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Objective/s: Be able to
Multiply and divide whole numbers by 10 or 100 or

Order and compare negative numbers using number line or temperature scal
cale.

Calculate a rise or fall in temperature.

Add and subtract up to four digits numbers.
Multiply 2 digit numbers by one digit. And 2 digits
Double and half 4digit numbers.

1) What will the temperature be if it is 8°C more than the temperature

shown below?

1000,

by 2 digits.

3

11

#10-9 -8 -7 -6 }5|-4 -3 -2 -1 0

2) The difference between the two numbers in the boxes is 10.

What number goes on the empty box?
\O C\D\,L)I\J

6.4
O P
P
QO fra
O [pavee

+ \ - / il X
. T h. s =3
|]O Lulo
o
ot B BERESIE csocait CE B A @D

~5-



https://digital-camscanner.onelink.me/P3GL/g26ffx3k

,‘;-

[/ rmest to coldest.
eratures fro™ e

scl e

4) Use the number liné below to help you solve the f°"°Wing:

| 1 |

| L |
O1 134WS 63
Use Risen/ Fell

f-’)

- ﬂe temperature was _9__9_ , the New temperature is-12°C

b

w © i)q The temperature has Q—CQ,C by ‘ﬁ %,

+b) Ltemperature was - 14°C, the new temperature is 4°C
[;-\‘

i

-14 & ii) The temperature has ngq_by __L___. C.

Math gives us hope that
2 €very problem has a solutio”
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5) Find the following:

a)The sum of 4098 and 2187
QoA 4 2183
A2 -2

b) The difference between 1097 and 3456
IYUS G- \08=3
+3 *3

Y100 + 21835=69 39 305G - 1100 = 2359
V.. \ . <
O LR QR 3U%e
+ 2T X9 - Vv O9%Aa
62% S 2 354
c) The product of 98 and 7 d) The product of 76 and 89
B , OR
63+
X

6% 0

e) The product of 58 and 79
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6) Complete t0 make t
G

following statements

he

a)2030 [X] = 203400

’ c) 6908 x

\Ooo®

= 6908000

e

, e) 6210pp+

109 =

6210

- 360

»n'

i) |81pp+ ‘95;:

=547

Ao

true.

d) 54000+

\¢o

f) 150009 + 1000 =

= 54P
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m)  Double 459 i
Yoo SO Q m n) _Half 756 i

G

BOO+\0o +1% A Cg&f%
U AS 3
0) & 6 Is Half of 132
e n ) p) ¥ bl a3
2
/S%O:ESO:\Z J 0+2

NG

71 9 3 53/9 1 30 4 6
9

%@ '\?’

% 4 iq

7) List: 30(5] 6 _332
B &\

a) 4 factors of 36 (1Y ﬁuf
1,36 214 512 4,9

b) Three multiples of 9 more than 20 and less than 89.

27 36 .45, S4,m,
31 ¥
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8) Solve the following:

During week days a doughnut shop sells 280 doughnuts perd day, and on
weekends they sell 336 doughnuts per day.
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336
b) How many doughnuts were sold during the weekend? |
) N3/
e W 0,5 ﬂé)ué»&) 336 /<07 2
A
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c) What is the total.number of doughnuts sold on both week days

and weekends?  (in oneweek).(‘ffdm/a_zz Ensish (g
&6 F2 ma)\@
/
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d) What is the diffe%ge between the doughnuts sold on wg_@_‘i@ﬁ
and on the weekends (in one week)?
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DONULS are sold in hoy o LX)
) oxe&_gﬂimbOXhasz4p,
|ECeg.

How many pieces are there in 35 boxe
S?
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Optional: (notincluded in the exam)

-

1) In a traffic survey,

Class B counts how many cars passed by during 3
certain hour. The

y counted the following 6 red cars and 16 white
cars. There were half as many blue cars as white. And, there were
three times more black cars than blue.

How many black cars passed by?

R w RKuw plak
6 16 W) 3T bl

pl(® 3 X3
B Y
2) Solve the following using mental strategies only:
a) 105,’6; 292%: b) 37:3- 19{9_73:
1108+ 3000 33192000
e \/
Hoo T la19
d) 35 x 35=
) -5
C)4SX14)/h » 30 = 1200 .
4G doxso-1252
QO 7('-}:630 )54 x11= SXS 5%
S5¢4
7 X \ "T 4—‘
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(@
Steps for doubling or halving: Example: .
. Double 586 Half 586
1) partition each number. 1)500+ 80+6 1)500+ 80+6
2)Double or half each digit 2) 1000+160+12 2)250+40+3
3)Add up the dig 31172 3) 293
EE—

9) Complete the following boxes with the halves and doubles of the
numbers given below.

Halve Number Double
VSO vIS +\ “éﬁileyur(/' s 600 100 v\
|4 71¢
500+ 100+ 345~ 1274 L 2000 + 4004140 g
600 + 200 +70+Y
639 ‘éi'k . aS4s
5137 i — QI N
Scco -+ 1030+ 16000+ 200 +C0rY| 26,000 -+ Y00 ¥120-+ 26
10,274 25.S 4%
8624

QCU)~H§O+SHZ\Q\L\DOD+?>UJ+\D‘%—; 3,000+600+04Y
2S6 3%

3 Fhggoo s 13200
G 2ded \ | 8800 |
220 &, e ('1LL/ OO0 f:;?gf Hhors (.l';:}?‘ Lelee
were on a plane when it took off from Dubai. Half of k

02300 people
@ﬁ%ﬁgﬂ&_@ot off at Paris and 100 people got off at Rome.
How many people are left on on the pla
halscug =150 ot of é?%fu-{—/()tf}\jf\fc
|SO +100= QSOP{@({ {’T 2T

8
00 - 50 = 80 n:»mu
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